						GENESIS ELEVATOR COMPANY (with clarifications) *		GENESIS ELEVATO	
		-			TERMS	NE	Т 30	NET 30	
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST
1	440 GLOVER STREET	1	Elevator	Dover	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
2	514 GLOVER STREET	1	Elevator	Dover	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
3	ALLATOONA HIGH	2	Elevator	Schindler		\$719.99	\$1,439.98	\$1,200.00	\$2,400.00
4	ALLATOONA HIGH	1	Wheel Chair Lift	Schindler		\$539.99	\$539.99	\$600.00	\$600.00
5	AWTREY MIDDLE	1	Elevator	Dover	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
6	BARBER MIDDLE	1	Wheel Chair Lift		Theater	\$539.99	\$539.99	\$600.00	\$600.00
7	BELLS FERRY ELEMENTARY	1	Wheel Chair Lift		Lunchroom Hallway	\$539.99	\$539.99	\$600.00	\$600.00
8	BLACKWELL ELEMENTARY	1	Elevator	Otis	3 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
9	BRUMBY ELEMENTARY	1	Elevator	Schindler	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
10	BULLARD ELEMENTARY	1	Elevator	ThyssenKrupp	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
11	CLARKDALE ELEMENTARY	1	Elevator	ThyssenKrupp	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
12	CAMPBELL HIGH	2	Elevator	Dover	2 Level	\$719.99	\$1,439.98	\$1,200.00	\$2,400.00
13	CAMPBELL MIDDLE	1	Wheel Chair Lift		Technology Lab	\$539.99	\$539.99	\$600.00	\$600.00

						GENESIS ELEVATOR COMPANY (with clarifications) *		GENESIS ELEVATOR COMPANY	
					TERMS	NE	Т 30	NE	Т 30
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST
14	COOPER MIDDLE	1	Wheel Chair Lift		Technology Lab	\$539.99	\$539.99	\$600.00	\$600.00
15	DURHAM MIDDLE	1	Wheel Chair Lift		Theater	\$539.99	\$539.99	\$600.00	\$600.00
16	EAST COBB MIDDLE	1	Wheel Chair Lift		Theater	\$539.99	\$539.99	\$600.00	\$600.00
17	EAST SIDE ELEMENTARY	1	Elevator	ThyssenKrupp		\$719.99	\$719.99	\$1,200.00	\$1,200.00
18	GREEN ACRES ELEMENTARY	1	Elevator	Montgomery	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
19	GRIFFIN MIDDLE	2	Elevator	Genesis	2 Level 2 Level	\$719.99	\$1,439.98	\$1,200.00	\$2,400.00
20	HARRISON HIGH	1	Elevator	ThyssenKrupp	3 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
21	HILLGROVE HIGH	2	Elevator	Schindler	2 Level	\$719.99	\$1,439.98	\$1,200.00	\$2,400.00
22	HILLGROVE HIGH	1	Wheel Chair Lift			\$539.99	\$539.99	\$600.00	\$600.00
23	HOLLYDALE ELEMENTARY	1	Elevator	Schindler	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00

						GENESIS I COM	ELEVATOR PANY fications) *	GENESIS ELEVATOR COMPANY	
					TERMS	NE	Т 30	NE	T 30
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST
24	KELL HIGH	2	Elevator	Schindler	2 Level	\$719.99	\$1,439.98	\$1,200.00	\$2,400.00
25	KELL HIGH	1	Wheel Chair Lift			\$539.99	\$539.99	\$600.00	\$600.00
26	KENNESAW MOUNTAIN HIGH	1	Elevator	Schindler	3 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
27	KING SPRINGS K-2	2	Wheel Chair Lift		Theater 100 Hall	\$539.99	\$1,079.98	\$600.00	\$1,200.00
28	KING SPRINGS K-1	1	Wheel Chair Lift	Mowrey		\$539.99	\$539.99	\$600.00	\$600.00
29	LaBELLE ELEMENTARY	1	Wheel Chair Lift			\$539.99	\$539.99	\$600.00	\$600.00
30	LASSITER HIGH	2	Elevator	Schindler	2 Level	\$719.99	\$1,439.98	\$1,200.00	\$2,400.00
31		1	Wheel Chair Lift			\$539.99	\$539.99	\$600.00	\$600.00
32		1	Wheel Chair Lift		Theater	\$539.99	\$539.99	\$600.00	\$600.00
33	MABLETON ELEMENTARY	1	Elevator	Vertical Express	3 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
34	MCCALL PRIMARY	1	Elevator	Mowrey		\$719.99	\$719.99	\$1,200.00	\$1,200.00
35	MCCLURE MIDDLE	1	Elevator	Schindler		\$719.99	\$719.99	\$1,200.00	\$1,200.00
36	MCCLURE MIDDLE	1	Wheel Chair Lift			\$539.99	\$539.99	\$600.00	\$600.00

				•, •••					
						GENESIS	ELEVATOR		
						COM	PANY	GENESIS	ELEVATOR
						(with clari	fications) *	COMPANY	
					TERMS	NE	Т 30	NET 30	
	FACILITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST	
37	MCEACHERN HIGH	2	Elevator	Dover / Kone	2 Level	\$719.99	\$1,439.98	\$1,200.00	\$2,400.00
38	MILFORD ELEMENTARY	1	Wheel Chair Lift			\$539.99	\$539.99	\$900.00	\$900.00
39	NORTH COBB HIGH	3	Elevator	USEC Schindler	2 Level 2 Level	\$719.99	\$2,159.97	\$1,200.00	\$3,600.00
40		•		Dover ThyssenKrupp	2 Level 2 Level	<b>A-</b> / <b>A - A</b>	<b>A</b>		
40	OSBORNE HIGH	3	Elevator	Mowrey Dover	2 Level 2 Level	\$719.99	\$2,159.97	\$1,200.00	\$3,600.00
41	PEBBLEBROOK HIGH	3	Elevator	Montgomery Mowrey	2 Level 2 Level	\$719.99	\$2,159.97	\$1,200.00	\$3,600.00
42	PEBBLEBROOK HIGH	2	Wheel Chair Lift		1 in Theater	\$539.99	\$1,079.98	\$600.00	\$1,200.00
43	PICKETTS MILL ELEMENTARY	1	Elevator	Schindler		\$719.99	\$719.99	\$1,200.00	\$1,200.00
44	PITNER ELEMENTRY	1	Elevator	ThyssenKrupp	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00

						COM	ELEVATOR PANY fications) *		ELEVATOR PANY
					TERMS	NE	Т 30	NE	T 30
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST
45	SEDALIA PARK ELEMENTARY	2	Wheel Chair Lift		Stage 400 Hall	\$539.99	\$1,079.98	\$600.00	\$1,200.00
46	SKY VIEW ELEMENTARY	1	Wheel Chair Lift		Theater	\$539.99	\$539.99	\$600.00	\$600.00
47	SMYRNA ELEMENTARY	1	Elevator	ThyssenKrupp	3 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
48	SOUTH COBB HIGH	5	Elevator	Dover USEC Otis/ Genesis	2 Level 2 Level 2 Level	\$719.99	\$3,599.95	\$1,200.00	\$6,000.00
49	SOUTH СОВВ НІGН	1	Wheel Chair Lift			\$539.99	\$539.99	\$600.00	\$600.00
50	SPRAYBERRY HIGH	2	Elevator	Dover	2 Level	\$719.99	\$1,439.98	\$1,200.00	\$2,400.00
51	SPRAYBERRY HIGH	1	Wheel Chair Lift			\$539.99	\$539.99	\$600.00	\$600.00
52	TEASLEY ELEMENTARY	1	Elevator	ThyssenKrupp	2 Level	\$719.99	\$719.99	\$1,200.00	\$1,200.00
53	WHEELER HIGH	7	Elevator	Dover/Schindler/ US Elevator	Theater	\$719.99	\$5,039.93	\$1,200.00	\$8,400.00
54	WHEELER HIGH	2	Wheel Chair Lift		2 Level 2 Level	\$539.99	\$1,079.98	\$600.00	\$1,200.00
			TOTAL COST			\$54,3	359.18	\$83,	100.00
	Discount percentage on parts r (Section 13.15 of Sp	ecial Terms	and Conditions)			25	5%	2	5%
	Flat Hourly Rate for work per the Bid (Section 13.16 of Sp		-			\$1	10	\$*	110

					MOWREY ELEVATOR COMPANY OF FLORIDA, INC.			ELEVATOR ES CORP.	
					TERMS	NE	Т 30	NE	Т 30
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST
1	440 GLOVER STREET	1	Elevator	Dover	2 Level	\$744.00	\$744.00	\$984.00	\$984.00
2	514 GLOVER STREET	1	Elevator	Dover	2 Level	\$744.00	\$744.00	\$984.00	\$984.00
3	ALLATOONA HIGH	2	Elevator	Schindler		\$744.00	\$1,488.00	\$984.00	\$1,968.00
4	ALLATOONA HIGH	1	Wheel Chair Lift	Schindler		\$564.00	\$564.00	\$984.00	\$984.00
5	AWTREY MIDDLE	1	Elevator	Dover	2 Level	\$744.00	\$744.00	\$984.00	\$984.00
6	BARBER MIDDLE	1	Wheel Chair Lift		Theater	\$744.00	\$744.00	\$984.00	\$984.00
7	BELLS FERRY ELEMENTARY	1	Wheel Chair Lift		Lunchroom Hallway	\$564.00	\$564.00	\$984.00	\$984.00
8	BLACKWELL ELEMENTARY	1	Elevator	Otis	3 Level	\$744.00	\$744.00	\$984.00	\$984.00
9	BRUMBY ELEMENTARY	1	Elevator	Schindler	2 Level	\$744.00	\$744.00	\$984.00	\$984.00
10	BULLARD ELEMENTARY	1	Elevator	ThyssenKrupp	2 Level	\$744.00	\$744.00	\$984.00	\$984.00
11	CLARKDALE ELEMENTARY	1	Elevator	ThyssenKrupp	2 Level	\$744.00	\$744.00	\$984.00	\$984.00
12	CAMPBELL HIGH	2	Elevator	Dover	2 Level	\$744.00	\$1,488.00	\$984.00	\$1,968.00
13	CAMPBELL MIDDLE	1	Wheel Chair Lift		Technology Lab	\$564.00	\$564.00	\$984.00	\$984.00

						MOWREY	ELEVATOR			
						COMP	ANY OF	PREMIER ELEVATOR		
								SERVICES CORP.		
						FLORIL	DA, INC.	SERVICE	-3 CURP.	
					TERMS	NE	Т 30	NE	Т 30	
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST	
14	COOPER MIDDLE	1	Wheel Chair Lift		Technology Lab	\$564.00	\$564.00	\$984.00	\$984.00	
15	DURHAM MIDDLE	1	Wheel Chair Lift		Theater	\$564.00	\$564.00	\$984.00	\$984.00	
16	EAST COBB MIDDLE	1	Wheel Chair Lift		Theater	\$564.00	\$564.00	\$984.00	\$984.00	
17	EAST SIDE ELEMENTARY	1	Elevator	ThyssenKrupp		\$744.00	\$744.00	\$984.00	\$984.00	
18	GREEN ACRES ELEMENTARY	1	Elevator	Montgomery	2 Level	\$744.00	\$744.00	\$984.00	\$984.00	
19	GRIFFIN MIDDLE	2	Elevator	Genesis	2 Level 2 Level	\$744.00	\$1,488.00	\$984.00	\$1,968.00	
20	HARRISON HIGH	1	Elevator	ThyssenKrupp	3 Level	\$744.00	\$744.00	\$984.00	\$984.00	
21	HILLGROVE HIGH	2	Elevator	Schindler	2 Level	\$744.00	\$1,488.00	\$984.00	\$1,968.00	
22	HILLGROVE HIGH	1	Wheel Chair Lift			\$564.00	\$564.00	\$984.00	\$984.00	
23	HOLLYDALE ELEMENTARY	1	Elevator	Schindler	2 Level	\$744.00	\$744.00	\$984.00	\$984.00	

						MOWREY ELEVATOR COMPANY OF FLORIDA, INC.			ELEVATOR ES CORP.
					TERMS	NE	Т 30	NE	Т 30
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST
24	KELL HIGH	2	Elevator	Schindler	2 Level	\$744.00	\$1,488.00	\$984.00	\$1,968.00
25	KELL HIGH	1	Wheel Chair Lift			\$564.00	\$564.00	\$984.00	\$984.00
26	KENNESAW MOUNTAIN HIGH	1	Elevator	Schindler	3 Level	\$744.00	\$744.00	\$984.00	\$984.00
27	KING SPRINGS K-2	2	Wheel Chair Lift		Theater 100 Hall	\$564.00	\$1,128.00	\$984.00	\$1,968.00
28	KING SPRINGS K-1	1	Wheel Chair Lift	Mowrey		\$564.00	\$564.00	\$984.00	\$984.00
29	LaBELLE ELEMENTARY	1	Wheel Chair Lift			\$564.00	\$564.00	\$984.00	\$984.00
30	LASSITER HIGH	2	Elevator	Schindler	2 Level	\$744.00	\$1,488.00	\$984.00	\$1,968.00
31		1	Wheel Chair Lift			\$564.00	\$564.00	\$984.00	\$984.00
32		1	Wheel Chair Lift		Theater	\$564.00	\$564.00	\$984.00	\$984.00
33	MABLETON ELEMENTARY	1	Elevator	Vertical Express	3 Level	\$744.00	\$744.00	\$984.00	\$984.00
34	MCCALL PRIMARY	1	Elevator	Mowrey		\$744.00	\$744.00	\$984.00	\$984.00
35	MCCLURE MIDDLE	1	Elevator	Schindler		\$744.00	\$744.00	\$984.00	\$984.00
36	MCCLURE MIDDLE	1	Wheel Chair Lift			\$564.00	\$564.00	\$984.00	\$984.00

			BIE IT S						
						MOWREY	ELEVATOR		
						COMPANY OF		PREMIER ELEVATOR	
						FI ORI	DA, INC.	SERVICES CORP.	
					TERMS	NE	Т 30	NE	Т 30
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST
37	MCEACHERN HIGH	2	Elevator	Dover / Kone	2 Level	\$744.00	\$1,488.00	\$984.00	\$1,968.00
38	MILFORD ELEMENTARY	1	Wheel Chair Lift			\$564.00	\$564.00	\$984.00	\$984.00
39	NORTH COBB HIGH	3	Elevator	USEC Schindler	2 Level 2 Level	\$744.00	\$2,232.00	\$984.00	\$2,952.00
				Dover ThyssenKrupp	2 Level 2 Level				
40	OSBORNE HIGH	3	Elevator	Mowrey	2 Level	\$744.00	\$2,232.00	\$984.00	\$2,952.00
				Dover Montgomery	2 Level 2 Level				
41	PEBBLEBROOK HIGH	3	Elevator	Mowrey	2 Level	\$744.00	\$2,232.00	\$984.00	\$2,952.00
42	PEBBLEBROOK HIGH	2	Wheel Chair Lift		1 in Theater	\$564.00	\$1,128.00	\$984.00	\$1,968.00
43	PICKETTS MILL ELEMENTARY	1	Elevator	Schindler		\$744.00	\$744.00	\$984.00	\$984.00
44	PITNER ELEMENTRY	1	Elevator	ThyssenKrupp	2 Level	\$744.00	\$744.00	\$984.00	\$984.00

				,		MOWREY COMP	ELEVATOR ANY OF		ELEVATOR
						FLORIE	DA, INC.	SERVICE	ES CORP.
					TERMS	NE	Т 30	NE	Т 30
	FACILITY	QUANTITY	NAME	MANUFACTURER	OTHER DESCRIPTION	ANNUAL UNIT COST	ANNUAL EXTENDED COST	ANNUAL UNIT COST	ANNUAL EXTENDED COST
45	SEDALIA PARK ELEMENTARY	2	Wheel Chair Lift		Stage 400 Hall	\$564.00	\$1,128.00	\$984.00	\$1,968.00
46	SKY VIEW ELEMENTARY	1	Wheel Chair Lift		Theater	\$564.00	\$564.00	\$984.00	\$984.00
47	SMYRNA ELEMENTARY	1	Elevator	ThyssenKrupp Dover	3 Level 2 Level	\$744.00	\$744.00	\$984.00	\$984.00
48	SOUTH СОВВ НІGН	5	Elevator	USEC Otis/ Genesis	2 Level 2 Level 2 Level	\$744.00	\$3,720.00	\$984.00	\$4,920.00
49	SOUTH COBB HIGH	1	Wheel Chair Lift			\$564.00	\$564.00	\$984.00	\$984.00
50	SPRAYBERRY HIGH	2	Elevator	Dover	2 Level	\$744.00	\$1,488.00	\$984.00	\$1,968.00
51	SPRAYBERRY HIGH	1	Wheel Chair Lift			\$564.00	\$564.00	\$984.00	\$984.00
52	TEASLEY ELEMENTARY	1	Elevator	ThyssenKrupp	2 Level	\$744.00	\$744.00	\$984.00	\$984.00
53	WHEELER HIGH	7	Elevator	Dover/Schindler/ US Elevator	Theater	\$744.00	\$5,208.00	\$984.00	\$6,888.00
54	WHEELER HIGH	2	Wheel Chair Lift		2 Level 2 Level	\$564.00	\$1,128.00	\$984.00	\$1,968.00
			TOTAL COST			\$56,5	508.00	\$80,	688.00
	Discount percentage on parts needed outside scope of bid (Section 13.15 of Special Terms and Conditions)		and Conditions)			25	5%	N/A	
	Flat Hourly Rate for work per the Bid (Section 13.16 of Sp		•			\$1	10	•	ar time; \$348/hour ertime